UCB Math 128A, Spring 2009: Midterm 2, Solutions
April 6, 2009

Name:

SID:

GSI:

e No books, no notes, no calculators

Grading
e Justify all answers 1 / 25

2 / 25
e Do all of the 4 problems

3 / 25
e Exam time 50 minutes A /25

/100



1. (25 points)
Consider the initial-value problem with exact solution y(t) = e + t:
Y =2t—y)+1, 0<t<2, y(0)=1

(a) Approximate y(2) using Euler’s method with step size h = 0.5.

(b) Find the value of h necessary for an error at most 107° in y(2), using

the error bound below (notation as in the textbook).
WM [ .,
ti) —wi| < -7 (tl_“)—l}.
y(t) —w < S e

Solution: (a)

Bound on second derivative of solution:
/(0] = [4e | <4 =M
Find step size h to get an error of 107°:

105 = M
2L

[eL'Q—l]:h(e4—1):>h:



2. (25 points)
A natural cubic spline S is defined by

So(r) =1+ Bz — 1) — D(z — 1)3, if 1 <x <2,
S(z) =
Si(z) =1+bx—2)—3(z -2 +d(z—2)*, f2<z<3.

If S interpolates the data (1,1), (2,1), and (3,0), find B, D, b, and d.

Solution: Natural boundary conditions:

SI(1) =0

3 1

Continuity of second derivative:

S§(2) = —6D
3
i
2) = =
s1(2) = -2
3 1
Si(2) = 5] (2) = —6D = -5 — D= ;
Interpolate the given data:
So(1) =1
1
S(2)=1+B-D=1=B=D=-
S1(2) =1
3 1 1 1
S1(3) +b 4-|—d b—I—d—i—4 0=b 1 5

Continuity of first derivative satisfied:

1
Si(2) = B—3D = 3

1
/ — [ —
Si(2) =b=—3



3. (25 points)

Show how to use Newton’s method to solve the equation below for x:

/ eSS dE = 1.

Use the Composite Simpson’s rule with n = 4 intervals for the integral.

You do not have to perform any numerical calculations.

Solution: Apply Newton’s method to the equation

f(x) :/ eShdt —1 = 0.

The integral is approximated by the Composite Simpson’s rule with

h=2x/n=u1x/2:
[ 50t G (5 (-a) 4 450/ + 2610) 4 45w/ + S(a)).
The derivative is given by the fundamental theorem of calculus:
f(z) = efine 4 in—z,
The Newton iteration becomes:

xro = initial guess,
B f(xn)
n

% [esin—xn +4€sin—xn/2 _|_2esin0_+_4€sinxn/2 +€sinxn] -1

— xn - . p
eslnxn _|_ eSlH —Tp



4. (25 points)
(a) Determine the constants a, b, @ such that the quadrature rule

/_ f(@)dr =~ af(=1) + af(1) + bf (@) +bf(~a)

has the highest possible degree of precision. Clearly state the degree

of precision of the resulting rule.

(b) Use the quadrature rule to approximate the integral below. You can

use a, b, v instead of the values calculated in (a).

4
/ eV? dr.
0

Solution: (a) Match left and right hand sides for monomials f(z) = z™:

(
1
z"dx =0
n odd : ¢ S

| af(=1) + af(1) + bf(a) + bf(=a) = 0

rf_llx”dx:2/(n+1)

n even : 4

Laf(=1) +af(1) +bf(a) +bf (=) = 2a + 2ba”

Use n =0, 2,4 and solve for a, b, a:

p

2a 4+ 2b =2
25(1_042):§ 1—a® 5

§2a+2ba2=2 == = 1= =

’ 2b(1—oz4):§ I-a 0

5
2a+2ba4:§
\
3 9 1 3 2 1

5ot =60l +1=0=0a’ =%/ —-—=—-F+-=_1
@ —bat 5 V23 5 575 5

The solution o? = 1 is invalid, pick the positive root o = 1/ V5.
The weights are then a = 1/6 and b = 5/6. The degree of

precision of the rule is 5.



(b)
4 1
/ V¥ dr = 2/ eVt dt ~ 2 (aeo + aeVl + heVit2e 4 66”2_2a)
0 1

_ 2&(62 + 1) + 2b(€\/2+2a + e\/2—2a)



